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2% of 9,000 0.6 = —

1% is A0
aAx9o ¢

\do

-----

%

5
Write E as a decimal

O.625

.13 .
Write — as a decimal
40

Q.35

Dorothy has drawn a pie chart to show her
friends’ favourite type of movie

L_ Qe_nrg;--_ o Frequency
_ Comedy | 26 x=\4
Horror B _14* I
i_____ Action 33 |
_‘ Drama | 17 |
%
[] Comedy
[ Horror
O Action

[] Drama

What has Dorothy has done wrong?

3: }'\’asnf convedecd,
' M 1} |_°

What size should the angle be for
Comedy?

10¢°
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36 + 4 + 2 539 x 109
534
x 9
q;bg !
539 00
* qg3gsi
S33F6

$8%S)

Sketch the net of a triangular prism

(s3]

Use three of these fraction cards to
complete the sum

Work out the volume of this cuboid
Sy = 60

Lo Yol *© 1220 CM,
-

5cm

12cm

~ 22em
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7,080 = 60 2 2

’ ' 11

R LR
AESE “*a
13 Za

Draw two quadrilaterals with diagonals that
do not cross at right angles ‘_’\, 4

The diagram shows 15 identical circles
and a pink triangle.

The vertices of the triangles are at the
centre of the circles.

Work out the area of the pink triangle

Ql}’(!&%& = 14 cMz'
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I\

20% of 14

2.8

5,082 x 16

87 x 456 = 39672

Using the information that

Explain why he is correct

396.7
write down the value of 870 x 0.456 —
x\0 =looo
Jacob says that 0.7 is greater than >
! N o
8 Q.%F = 0 L

% » 62 .59,
J.ox ? S/S

Result Percentage
Win 50%
Draw 36%

Lose

14%

Alfie makes a pie chart to show the results

What angle should he use for “lose?”

4% o %o = S0-4°
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30 + 74 %2 9,614 = 23
¥ %3 =93 a8
23[9 ¢" 'y

418

Shown is a regular pentagon

Find the size of angle x

(5-2) ¥8o = 546" in bk

S"O/S < gb.

Four bananas have a mean mass of 115g
The heaviest banana is removed.

The mean mass of the remaining three
bananas is 107g.

What is the mass of the heaviest banana?

Ml g 4 = lIs x¢ > 46og
Kulep 30 lo¥xd: 32l |

L)

e

Which is larger 30% of 8 or 8% of 307?

st be te some

(%.,,h}_xzo)

1R
24
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><1><1
3 2

W =

%a

13

> T €S %

¢S %

There are 80 teachers in a school.

The headteacher says that exactly 36% of
the teachers drive to work.

Explain why the headteacher is wrong.

Yl o : 183
% awst be W
d's M‘\‘O\ DJHQ :wb?/

Work out the value of y

2y - 16 = 80

aj:qé 3= 43

A red light flashes every 30 seconds and a
green light flashes every 24 seconds.

They both flash at the same time.

After how many seconds will they next
both flash at the same time?

%0,60,% , 20, IS,
24 ,43,92,96, 1o

\.9.0 S@teodj
:
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573 X 246 — 120 = 59 x 109

5§53 3 SMrio = S
*x Y4 & 4rxq = S3 |
3438 G4 3!
(2 ?;‘t (A
L #6009 643
\4 Q468 X " 2°'
4o, 9SG > S gss |

Find the size of angle x

\%0 -6%= 113

x= U3
=

Jake is making scones

Here is a list of ingredients to make 8
scones.

8 Scones

200g flour 13
30g caster sugar
509 butter

140ml milk

1 egg

How much of each ingredient would he
need to make 10 scones?

2503 {"oor‘
33F.5 CQS"!I Svjo.,
62 539 butle,

1FSaal Al
\% eogs
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8th August
9.03 +7 68% = —
\ 2
Fae*3 6_._--8 =38 .
ww  “So
1.29 Y%

Write down the ratio of red squares to
green circles

¢ \oL
= | e

1
Rebecca is 5 of Samuel’s age.

Samuel is 7 years younger than Louise.

If Rebecca is 9 years old, how old is
Louise?

Louvise = S41%
= 6|
—=

Sl = 6% = 5S¢ %

Work out the missing number

%
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=0l = =22 0.8 X 3,000
-1 A400
Row 1 9 12 15 V.:"\at :mber comeszat(t;e end of row 307? |
"4 Y e
Row2 | 16 19 22 ? L |
Row 3 23 26 29

Which row has a sum of 246?

o 11 :(39,82,35)

ratio 2:3.

Ben and Holly share 60 marbles in the

How many marbles does Holly receive?

oSl
’$W9.='S<§_
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2
s

15% of 7,000

ol « 7o
57, ligtse

0SS0

The diameter of a circle is 7cm.

What length is the radius?

3. Sem
S

Here are some planned school trips

IKarﬁng Museum  Theme Park

Number of students

140 221 342

8 12

Number of teachers

L)

For every 18 students there must be at
least 1 teacher.

Do all the trips have enough teachers?

Kok Yo =@ = 1?5

pysron 2213107 18.¢..

’rhm.pn,k WULzlq: 13

Nol mosk, (w the

pseRA- THG-
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L i ¢ 3
vV,3,:3
Z v 4’ {
1 3
%o %
13m Work out the shaded area
* fochafe’ 13435 2 TS
~oale . QYL 2205 =
5m A 7 5m 4/\04912 Q¥
(4
9m ﬂ'u\

William Shakespeare was born in 1564

Write 1564 in Roman numerals

MDLX \\/

One gram of platinum costs £20.17

How much does three fifths of a kilogram
cost?

All, 102
T

}?q.k!b * @3

& xlo. 13-
1210
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2 e
50,500 x 13 3= | €%
SO S00x(0: £3000
Sosopo ¥ - IS),S00
<s¢§00
» O
€56, S0 &.6 %
In this diagram, the pink rectangles are all
of equal width. ? T - ?
Calculate the width of one of the pink
rectangles
41cm % ? 3cm
|Ecm e

44 +? =28437
7: 44-28 =16

Find the HCF (highest common factor) of
36 and 60

| oL
L
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2 3
2" -+ =
3 5
o 9 .19

,'“(sw Ve

Lewis is walking from Antrim to
Randalstown

Randalstown 1% miles

Antrim 3% miles

Toome 9% miles

Work out the distance from Antrim to
Toome

q%+3% = R4k

= 17 miles
i

Work out the distance from Randalstown
to Toome

% - 1%
<233 -F =3 % uilg
a o ¢ —

Write four numbers with a mean of 12 and
a range of 12.

L 6,12,1,18

kta\ = 2x 4 = 43
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T

1202

GG oo

50-15x%x 3

On a map, 1cm represents 40km
The distance between two cities is 380km

On the map, what is the distance between
the two cities?

The perimeter of a square is 36cm

Find the area of the square

Qe
4

each sicle = $649:=9
gt= 8l

Hugo calculates the size of each angle for
a pie chart

I Destination | Frequency _I

[ Employment 15 [x 02= 3° .

__Apprenticeship 11 [x 02=22

EFurTher Education | 40 |x 02=8°
Gap Year 6 |x 02=12°

15+11+40+6 =72
72 = 360 = 0.2° per person

Can you spot what Hugo has done wrong?

dredd Yere cone
U == S
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570 x 109 468 +- 18

<2130 + 8 [a €8

&, 1% A6

An adult ticket for the cinema is £13.00

A child ticket is half the price of an adult ”“:‘&5‘9 '3 ¥ 9-
ticket. Mr and Mrs Henderson and their gj -~ 26 +
four children go to see a movie. k "4~ S¥ g ———
Mrs Henderson has a voucher to save = * Sol
20%.

20.’0‘ lo.-40

How much does she have to pay for the ¢ 2 -\o: Qo - ; 4" 60
tickets?

Find the area of the parallelogram

N %o = 60Mm
< 30mm
Two identical regular pentagons are
shown.
Find angle x
(5-2) ¥Re * S4o

S4c =S 108
2= \ 4y




She paid a deposit of £4,000.

Leah paid the rest of the money over 50
equal monthly payments.

How much was each monthly payment?

14000 . 4280
Se

5-a-day Platinum * ‘ :
} ]
16th August
1 4
1= — — 1,000,090 — 531,998
3 5
CREAENDIN
(Y
O
5 "|'63J A
Arrange in order from smallest to largest
3, S
5,281 %% %
4’ 37 6" 3 3
Rosie has four different triangles “Type of Triangle | Angle1 | Angle2 | Angle3
i e
Complete the table to show the size of the || >@lee | 207 __'_&S | rS* _*f
angles in each triangle _Righ_\‘_*mgka_d | 70 B 90° _7-_O_°_ 1
Isosceles 50° so’ 80’
) ! ;sc;celes 50° 6s° 65.
x dlor pssible answary
Leah bought a new car costing £18,000 \8°°° — q,°°° = lq.o%
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1
15 x 15 1,090 x 25
AS X I =3 S,000
L x G0 * 2,250
%ylS : 4/5 1 PIEXERS
Y
aa -~ aq'tZSQ

Round 10.6491 to one decimal place

0.6

Round 10.6491 to two decimal places

\0.6S

The diagonals of a square cross at right
angles.

On the grid, draw a different type of
quadrilateral where the diagonals cross at
right angles

(o ite or hombus)

Solve the equation

5w + 11 =3w + 20

Aw= 9 s

eSO
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.....
.....

= =
-----

SN

g 4
Measure this angle
%o - 130
~ 23 |3
e

A bus leaves Antrim Bus Station every 30
minutes.
A train leaves Antrim Bus Station every 42
minutes.

At 8am, a bus and a train leave the
stations at the same time

AbiOes

What is the next time that a bus and a train
leave at the same time?

42, 84,126,168, 210
0, , 210

210 mindes = 3% houm

Mr Kelly owns a shop

He buys 31 televisions at £295.99 each
and 19 DVD players at £60.99 each

Estimate how much Mr Kelly paid

20 v300 = 9000
'sz & s t 200

A 0,0
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s‘]

750

——

Simplify 1250

2

T2s

3
<

.

20X 30x40 %3

32,000

Shown is an equilateral triangle with side
length of 8cm.

Six of the triangles are put together to
make a larger shape.

Find the perimeter of the larger shape.

48cum
—a

Shown are four number cards.
The mean of the cards is 10.

Work out the missing number.

QO
W: loxy= 4o

Tomas had some money

He spent £1.75 on a coffee.
He spent £2.55 on a muffin.
He has five-sixths of his money left.

How much money did Tomas have to start
with?

111542.8S =+ 430
'S 'éot\ s Monsy

&%0x§ : #ZS 30
——
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e

f

—-40 — 30

-30

1 0.9 x 3,000

Find the area of the parallelogram

12 X3 = q€m2
i

What was the number Molly first thought
of?

Raspberries cost £13.30 per kg vi = 13 3
Mangos cost £6.20 per kg 13.30 ¥1O N u3. 40
4 pineapples cost £5 6.xF = 2. So
- '
Work out the cost of 10kg of raspberries, 5 *3 9 o
7kg of mangos and 2 pineapples. \ '
0€ 138.90

Molly thinks of a number. ! -S

£4%°%
She adds half of the number to
a third of the number. D 18 5/‘
Her answer is 100. . V s 28

¢ 6

S nombre wey 2O
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45% of 800 26 =5

30 S-

Here is a net for a 3D shape \

Which shape? )
CO ne \\_O

Burt is making cupcakes o
He has made 700 cupcakes. @v
Burt places the cupcakes in boxes of 16. v
How many boxes can he fill? = "’ 3. ‘.

43 (wihsoue 1§ [+So'c

\qf Wy

There are 48 students in a year group.
The pie chart shows information about
their eye colour.

How many students have brown eyes?

20
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- -
ooooo

113 —=10.5

1331 QCTO

|5a+15=75

| Work out the value of a

| a= &

—_——
The area of the triangle is 15cm?
Find the height of the triangle, x X 1SxA =5
Cuboid A Cuboid A and cuboid B have the same
volume.

Find the height of cuboid B, y

Y= dom
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70% of 420

o\ =4
X34+ =

294

6,000 — 1,200 x 3

A4 00

A 2p coin has a mass of 7 grams.

Find the total mass of £40 worth of
2p coins

Give your answer in kilograms

\arby

So 2p coiny pr, &
Sor4o * AAO Coin}
200 ¥ = \40003

= \4*,’

The product of Jack’s age, Florence’s age
and Gabiriella's age is 784.

Jack is 7 years old and Gabriella is twice
as old as Jack.

How old is Florence? %

3 F My =93
G- %
32q:ad: 8

Triangle B is a reflection of triangle A in
the y-axis.
Both triangles are isosceles triangles.

What are coordinates of point C?

(*-p

4.9)

L
C @,-3) @»‘-y
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2754

35,625

The diagram shows three regular octagons

There is a blue dot at the centre of each
octagon.

What fraction of the diagram is unshaded?

|
¥,

The diameter of a circle is 1.9m

What size is the radius of the circle?

0.ASm

Molly thinks of a number.

She adds half of the number to
a third of the number.
Her answer is 75.

What was the number Molly first thought
of?
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13\y

1

0.16 x 300

43

556 —-9x%x2

Measure this reflex angle

i

Some small circles and large circles fit
exactly inside this rectangle.

w

Ocm
—>1

OO0 00X

/. 2

The diameter of a small circle is 30cm.

Work out the radius of a large circle.

A 4 om

q ¥20 =~ VIO0em
Vo6 = USem
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-~ bk 9 ,
h= 10
R -
X C‘/x '{ - }
(P 1o

%

Find the highest common factor (HCF) of
72 and 56

%

Here is a shape made from 4 identical
rectangles.

The total area is 240 cm?

36¢cm

I
‘F

—re——+&

ko=122=S

Work out the value of y

eac\ .eq‘uale

LYo ~ & =

€0

Ty Scm
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2072 - 14

143

LRl

Samuel says that

6+4x9=90

Is he correct?

No , it's 6436 = 42

Sofa World and Sofa Land charge to
deliver pizzas.

Sofa Land

10 L‘——-

- .
20
Delivery distance (miles)

Delivery
cost (£)

\
Sofa World

Delivery
cost (£)

10

20

Delivery distance (miles)

Describe the delivery cost of Sofa World.
Sofa Land has be done for you.
Sofa Land

The delivery cost is always £10 no matter
how far the sofa is delivered

Sofa World

The cost
S 10 fr JOmls)
( Sop par u.;le)
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1.74 = 12 1579 X 642

ol45 'S 33
| [ 1F¥O x | 64

g1l s

9 © o

lo 1 3% 1 %

Q.14 1013313

Circle all the prime numbers

® O

99

2
@

100 ®

In this multiplication pyramid, two numbers
are multiplied to give the number above.

100
20 5

Find the missing numbers

4 6o
45 108

2.8 | 18 6

Here are three equations

X+y+2=37 3-10
X +Yy =27 .2
y+2=23 E

x: Y

What are the values of x, y and z?

10
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3
S = 23S % 1674 + 31

‘ 5 4
R 6 3%¢

Colin runs at a speed of
8 metres per second.

How long will it take Colin to run
40 metres?

;5 SecenclS

Find the value of y

7y +5=4y + 20

%H""S Lj"S

I am thinking of a number that is not zero.
| multiply my number by —3

Tick the statement that is true.

D The answer must be positive
I:I The answer must be negative

z The answer could be positive or negative
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1 2
1= - = 65% of 30
5 3
6 2
—_-7
S '8
13__lo_ -
5 1S
S !
Each quadrilateral has a perimeter of Side Lengths
40cm.
Rectangle| 13cm 7cm 13cm  7cm
Complete the table Rhombus | 10cm  1© o |o
Parallelogram| 12cm |a. 8 8
Kite 6cm 6 w &

Shay has £1000 to spend on lemon trees
and plum trees.

Each lemon tree costs £18
Each plum tree costs £23

Shay buys 15 lemon trees.

B

How many plum trees can Shay buy?

\S ¥13 = TTO
13" ’2:*0 S ?30
320 =23 3.3

Is the shape a regular pentagon?

Yes

Find the size of angle x
o - 4u-90 -14S -
= %

145° 145°
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on,
mn

1}

£

N

70— 30 =5

(s

Wl N
col BN

Adam is organising a charity concert at
school.

The concert is sold out.
The hall holds 35 rows of 42 seats.

Each person pays £14

How much money will Adam raise for
charity?

 sxdv\y
"'£20| $80

On the grid, draw a triangle with
only one side of 4cm and a 90° angle

On the grid, draw a triangle with
only one side of 4cm and only one 45°
angle
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